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config: linear, direction: -, begin: 4426987, end: 4426721

I *4426980 * *4426970  * *4426960 * *4426950 * _*4426940 _* *4426930 * *4426920 * *4426910
5’ttcgatggtgtcaaaagttggggtggtcatcgtatttcctttcttagggtataaagtagcgggcagcatatcagccacact3'
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- ser - net - val - ser - lys - val - gly - val - val - ile - val - phe— pro - phe - leu - gly - tyr - Iys— val - ala— gly— ser - |Ie— ser - ala - thr - leu -

-arg - trp - cys - gln - lys - leu - gly - trp - ser - ser - tyr phe - leu - ser - - - - - - - - - - - - -
---------------------------------------------------------- ] NC_000913.fklB
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5’t.aaaggcgggtttaccacggacatcat gcogttagecttat
- lys - gly - gly - phe - thr - thr - asp -

ile-ile- ala- leu- ala- tyr - ser - @
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